Tert butyl alcohol
Response Ratio
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Response = 3.530e-002 * Amt + 8.600e-003
Coef of Det (r*2) = 0.997583 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y050922S.M
Calibration Table Last Updated: Mon May 09 19:21:20 2022



et hyl Acetate
Response Ratio
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Response = 2.909e-001 * Ant + 9.144e-003
Coef of Det (r”2) = 0.994417 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA Y\ net hods\ 82Y050922S. M
Cal i brati on Tabl e Last Updated: NMon lay 09 19:21:20 2022



Met hacrylonitrile
Response Ratio
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Response = 1.379e-001 * Ant - 2.116e-003
Coef of Det (r”2) = 0.994688 Curve Fit: Linear
Met hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA Y\ net hods\ 82Y050922S. M
Cal i brati on Tabl e Last Updated: NMon lay 09 19:21:20 2022
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